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The figures in the right hand margin indicate marks

Candidates are required 1o give their answers in their
own words as far as practicable

Hllustrate the answers wherever necessary

i
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Use separate script for each Half

[NEW SYLLABUS ]
[FIRST HALF ]
(Public Economics and Environment Economics )
[ Marks : 45 ]

GROUP — A

Answer any five questions : 2%5
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Explain briefly the concept of horizontal
equity under the ability to pay principle of
taxation. :

Under what condition the value of Balanced
Budget Multiplier is equal to one ?

What is free-rider problem ?
Whatis GST ? Explain.

What is Laffer curve ?

Explain the concept of public good
externality.

What is 'Exclusion Principle’ ?

What is WTA ?
GROUP - B
Answer any three questions : 5%3

On what grounds would you justify the benefit

approach to taxation ?
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3. 'Whatdoyou mean by use value and non-use value
. of environmental resource.

4. Examine the role of fiscal policy in a developing
' country like India.

5. | Derive the optimal level of pollution.

6. Why is Governmental intervention needed in
allocation of resources ?

7. Explain the effect of unit tax on price and output
in a competitive market.

i GROUP - C
Answer any two questions : 10x2

8. Critically assess the Corporate income tax

interms of all possible types of shifting and

- incidence of the tax. Does it adversely affect
investment ?

9, Examine the effect of income tax on work
effort and savings.
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10. What is government budget ? Explain the concept
of different types of budget deficits.

11. Distinguish between internal debt and external
debt. Does public debt impose some burden on
the future generation ? :

[ SECOND HALF]
{(Mathematical Economics )
[ Marks : 45 ]
GROUP — A

Answer any five questions : 2%x5

1. (a) Given the total cost function
C=15g-6¢*+4°

derive the equations of AC and MC curves

where 4C and MC denotes average cost and

marginal cost respectively.

(b) Given the demand and cost functions
p=250-3q and c=3q + 54 respectively,
find the profit maximising price and output.
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(¢) Define slack and surplus variables.

(d) Write the assumptions of Leontief static
closed model.

(e) Find the price elasticity of demand for the
demand function-
p=130--3g at g = 35.

' (f) Whatdoyou meém by feasible solution and
~ basic feasible solution in an LPP ?

(g) Ifthe demand curve for a commodity be
D = 25-2p and the supply curve be
S =p-2,then find equilibrium price
and quantity.

(h) Define Consumption Possibility Locus
! (CPL).

(i) Determine whether the following function
is homogeneous. If so, of what degree ?

fl,y)=x ~xy+y?
(/) What is Benefit Cost Ratio (BCR) ?

UG/VECO/H/V/18(New) ( Turn Over )



(6)

GROUP -B

Answer any three questions : 5x3

2. Given the production function 0=k L' and
P,=Rs. 4, P, =Rs. 8, derive the equation of the
total cost function.

3. A monopolist faces two demand functions
p,=12~q, and p,=20-3q, in two markets.
Suppose his total cost function is

C=3+2(q, +q,.
Determine the prices, the monopolist will charge
in the two markets if his objective is to maximise
profit.

4. Solve the following L.P.P.graphically :
Max Z=10x + 15x,

sub.to. x, +x
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5. Distinguish between Primal and Dual problem
.in LPP.

6. Letthe National Income model be

Y=C+I,+G :
C=a+b(Y-T)(@>0,0<b<1)
G=gY - (0<g<1)

- (@) Identify the endogenous variables.

~ (b) Give the economic meaning of the parameter
g

- (¢) Find the equilibrium national income.

7. Showthat a consumer with the utility function
U=xx, a>0

will have a linear-income consumption
curve.
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GROUP — C |
Answer any two questions : 10 %2

8. Find the demand vector D consistent with the

25

output vector X ={21}and the coefficient
18

matrix

0-2 0.3 0-2
A=(0-4 01 0-2
0-1 0-3 0-2

Test whether the Hawkins-Simon conditions for
the viability of the system are satisfied.

9. (a) Solvethe following LPP by Simplex
| method : | |

Max Z=4x+6y
sub. to %x+ys4-

2x+y<8
dx-2y<2, x, y 20.
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(b)) Thedemand and supply function of a
commodity are given by—

a_20-p

=P and ¢ =
q 3334

respectively. If the commodity is sold in a
perfectly competitive market, what will be
amount consumer's surplus.

4

10. A giiren product can be manufactured at a total

cost , x2
C="1+100x+40
100 + X+

where x is the number of units produced. The
price at which each unit can be sold is given by

P=1200- —66 Determine the production level

x at which profit is maximum. What is the price
per unit and the total profit at this level of
production.

11. Explain the Net Present Value (NPV)andthe
Internal Rate of Return (IRR) methods of project |
evaluation.
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